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THIRD SEMESTER
PART TIME DIPLOMA COURSE IN CIVIL
MECHANICAL AND ELECTRICAL
ENGINEERING NEW COURSE
APPLIED MATHEMATICS - 1T

Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.
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(ii) In case of any doubt or dispute, the English
- version question should be tﬁ;ated as final.

iv) The polar co-ordinate form of the point (1,1) is
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v) The eccentricity of Hyperbola

9x? —16y? =144 is

Ny TR o R F deE ol Taw @ R d 5 5
S T 3 wed A i R R @ 3 ®)
1. Choose the correct answer:- 2 each
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ii) I 5— dx is equal to dx
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(a) secx (b) fan x @ »= 1—-tan x
(c) cot x (d) sec xtanx
. (b) x¥=e"
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Icos zxdx ot ) x"+y"=d"
(1) sec x (@) tan x ) x=a(t=sint)and y=a(l-cost)
(|) cot x . (7) sec xtan x 3. Integrate. (solve any three) 6 each
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(@) [V1+sin2x dx
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e) Ixz log x dx

(d) jsin'I x dx

4. a) Ifin parallelogram ABCD the point of inter
section of diagonal is P then show

that OA+OB+0C + OD=4 OP (O is origin)
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OA+OB+OC+ OD=40OP .

b} Find power and power factor is an electric circuit

if the voltage V=2i-2j+kand current

I1=6i+3j-2K. 6

o T U # REARR p=2i-2j+k AR AW
T=6i+3j—2K8 @ T R 4R He?
il '

&) If lt_l + 5' = lt—l - B’ then show that the vectors 4 and

5 are perpendicular. 6
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5. a)~ Find a unit vector perpendicular to the vector

i+3j+2K and 2i-4;+K . Find also sine of
angle between them. 9
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_ Find the moment about the point i+2j-K

of a force 3/+K -acting through the point
2i-j+3K. 9

fg i+2/-K W ol &t o e 3y aw
3i+K g 2ij+3K W @ %1 3

RGPVONLINE.COM

RGPVONLINE.COM

6. (a) Provethatthe points (a,b+c) (b,c +a)and (c, a+b)

are collinear. 6
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(b) Inwhat ratio the line segment joining the points

(2,15) and (8,9) is divided by x - axis. 6
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(c) Find the equation of line passing through (-4.-3) and

perpendicular to the line joining (1,3)and (2,7) 6
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/ Find the equation of the circumcircle of the triangle

passing through (1,1) (2.-1)and (3.2).
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«B) Find the equation of ellipse whose focus (2,1)

1
and directrix 3x + 4y =5 and eccentricity is 5
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8. a) Find vertex, focus, axis, lafus rectum and directrix

of the parabola y? + 4x—6y+13=0. 12
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b) Differentiate sin x by the first principle. 6
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